INOX

Stainless
Steel
WA K
- AISI303 R 4 4 41K,
- AISI3034T 2 H A F 44,

- AISIBO3 A 9 F AT (A, AKE),

- AISIB037 55 4 F M 4T A0 5 8 08 B R B I & (PA) & AU R & 1841 4t
I 64 F AR AT £ (B, BKR),
AL Alad, o AE A AL A

- T HRBFEFAK BKE),

CNe12w% 4 EH, ATARHLAREE RN T &, HRFAEY

180, #EHEHACERS, FAANEL - PFORIFERMTE,
ZRaRHeTAMBERE, FNEHEATRENI, W IMHAT
Rk

AISI3037 4145 Al TR BY Y B8 1k, ERXBREFHAZA TR EM

3

T, RTRHETUANERS, %‘"
T =
i WHID {ﬁa\ GN 612.1
J- ) e
' 1
| .
; 1 T
. . r ‘_I_. /
. 1 _J
d d1
% F R B EN BE
—0._o2
) d oo d D | ! R 1 o 2 S

GN 6126-M16x1 5ANI 5 100
GN 612-8-M16x1.5-ANI 8 M16x1.5 16 30 10 32 16 12 32 103
GN 612-10-M16x1 5-ANI 10 104
GN 612-8-M20x1.5-ANI 8 112
GN 612-10-M20x1 5-A-NI 10 M20x1.5 20 36 12 37 21 21 58 115
GN 612-12-M20x1 5-A-NI 12 120
GN 612-6-M16x1 5-AK-NI 5 135
GN 612-8-M16x1.5-AKNI 8 M16x1.5 16 30 10 32 16 12 32 138
GN 612-10-M16x1 5-AK-NI 10 140
GN 612-8-M20x1.5-AK-NI 8 148
GN 612-10-M20x1 5-AK-NI 10 M20x1.5 20 36 12 37 21 21 58 156
GN 612-12-M20x1 5-AK-NI 12 156
GN 612-6-M16x1.5-BNI 5 102
GN 612-8-M16x1.5-B-NI 8 M16x1.5 16 30 10 42 i 12 32 105
GN 612-10-M16x15B-NI 10 111
GN 612-8-M20x1 5-B-NI 8 114
GN 612-10-M20x1 5-B-NI 10 M20x1.5 20 36 12 52 i 21 58 117
GN 612-12-M20x1 5-B-NI 12 123
GN 612-6-M16x1.5-BK-NI 6 137
GN 612-8-M16x1 5-BK-NI 8 M16x1.5 16 30 10 42 - 12 32 140
GN 612-10-M16x1 5-BK-NI 10 147
GN 612-8-M20x1.5-BK-NI 8 150
GN 612-10-M20x1 5-BK-NI 10 M20x1.5 20 36 12 52 i 21 58 153
GN 612-12-M20x1.5-BK-NI 12 159

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

(€lesa+GANTER)




